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Grade VI I   

Lesson  :  5 LI NES AND ANGLES 

 

 

 

1. A r ay has how many end point s ? 

a) One b) Two c) Thr ee  d) Zer o 

2. What  is t he sum of  t he measur es of  t wo supplement ar y angles? 

a) 900   b) 1800  c) 3600   d) 2700 

3. Assume f igur e, AB  l l CD and EF is t he t r ansver sal.  I f  angles AGH = 600, what  is t he  

  measur e of  angle DHF? 

 a) 900   b) 1200  c) 1800    d) 1050 

4. A line has how many end point s ? 

a) One   b) Two   c) Thr ee   d) Zer o 

5. What  is t he sum of  t he measur es of  t wo complement ar y angles? 

a) Complement ar y angles   b) Supplement ar y angles  

c) Bot h acut e angles    d) bot h obt use angles 

 

 

 

 

6. 6. The angles bet ween Nor t h and East  and Nor t h and West  ar e : 

 a) Complement ar y angles  b) Supplement ar y angles 

 c) bot h acut e angles   d) bot h obt use angles 

7. Which of  t he f ollowing pair  of  angels supplement ar y? 

a) 480 420  b) 600 600  c) 750 1050   d) 1790  20 

8. I n f ig a pair  of  cor r esponding angles is : 

a)	∠1, ∠2,  b.	∠3, ∠6,  d)	∠3, ∠5,   b.	∠3, ∠7 

 

 

 

Object ive Type Quest ions 

I .  Mult iple choice quest ions 
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9. I f  t wo lines ar e int er sect ed by a t r ansver sal, t hen t he number  of  pair s of  int er ior  angles on 

 t he same side of  t he t r ansver sal is : 

a) 1   b) 2  c) 3   d)4 

10. The angles bet ween Nor t h and West  and Sout h and East  ar e. 

a) Complement ar y b) Supplement ar y c) Bot h ar e acut e d) Bot h ar e obt use 

11. Angles bet ween Sout h and West  and Sout h and East  ar e: 

a) Ver t ically opposit e angles  b) Complement ar y angles  

c) Making a linear  pai r    d) Adj acent  but  not  supplement ar y 

12. PQ is a mir r or , AB is t he incident  r ay and BC is t he r ef lect ed r ay.  I f ܥܤܣ∠  = 46
0,  

 Then ∠ܲܤܣ is equal t o :  

a) 440   b) 670   c) 130   d) 620 

 

 

 

 

13. I f  t he complement  of  an angle is 790 t hen t he angle will be  of  : 

a) 10   b) 110   c) 790   d) 1010 

14. Angles which ar e bot h supplement ar y and ver t ically opposit e ar e : 

a) 950, 850  b) 900,  900  c) 1000, 800  d) 450 , 450 

15. The angle which makes a linear  pair  wit h an angle of  610 is of  : 

a) 290   b) 610   c) 1220   d) 1990 

16. The angle  x and 910–x ar e  

a) Supplement ar y     b) Complement ar y  

c) Ver t ically opposit e   d) making a liner  pair  

17. The  angles x -100–x  1900and ar e: 

a) I nt er ior  angles on t he same side of  t he t r ansver sal  b)Making linear  pair  

c) Complement ar y       d)Supplement ar y 

18. I n Fig.., t he value of  x is  

a) 1100  b) 460  c) 640  d) 1500 
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19.  I n Fig, if  AB  l l CD, ∠ܳܲܣ = 50
0, and ∠ܴܲܦ = 130

0,t hen ∠ܴܳܲ	  is : 

 

 

 

 

a) 1300   b) 500   c) 800   d) 300 

20. I N Fig., lines l and m int er sect  each ot her  at  a point .  Which of  t he f ollowing is f alse? 

 

 

a)	∠ܽ ∠ܾ,  b.	∠݀, ∠ܿ,  d)	∠ܽ, ∠݀, = 1800 b.	∠ܽ, ∠݀ 

21. I f  Angle P and angel Q ar e supplement ar y and t he measur e of  angles P is 600, t hen  t he 

 measur e of  angle Q is : 

a) 1200   b) 600   c) 300   d) 200 

22. POR I S A LI NE.  The value of  a is : 

a) 400   b) 450   c) 550   d) 600 

 

 

 

23.The measur e of  angle which is f our  t imes it s supplement  is  

a) 360   b) 1440  c) 160   d) 640 

24. I n Fig, t he value of  y is. 

 

a) 300   b) 150   c) 200   d) 22.50 

25. PA l l  BC l l  DT l l  AND AB l l    DC.  Then t he values of  a and b ar e r espect ively. 

a)600, 300  b)500,  1300 

 

c)700,  1100  d)800 , 1000 
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26. The dif f er ence of  t wo complement ar y angles is 300 t hen t he angels ar e.  

a) 600, 300  b) 700,  400  c) 200,  1500  d) 1050 , 750 

27 I n Fig,  PQ l l  SR and SP l l  RQ  Then angles a and b ar e r espect ively: 

 

 

 

a) 200, 500  b) 500,  1200  c) 300,  500  d) 450 350 

28. I n Fig, a and b ar e : 

 

 

 

a) alt er nat e ext er ior  angles   b)Cor r esponding angles  

c) Alt er nat e int er ior  angles  d) Ver t ically opposit e angles 

29. I f  t wo supplement ar y angles ar e in t he r at io 1:2 t hen t he bigger  angle is : 

a) 1200   b) 1250  c) 1100   d) 900 

30. I n f ig., ROS  is r ight  angle and POR AND QOS  ar e in t he r at ion 1:5 Then QOS measur es . 

a) 1500   b) 750   c) 450   d) 600 

 

 

 

31. St at ement  a and b ar e as given below: 

a: I f  t wo lines int er sect , t hen t he ver t ically opposit e angles ar e equal 

b. I f  a t r ansver sal int er sect s t wo ot her  line, t hen t he sum of  t wo int er ior  angles on t he 

same side of  t he t r ansver sal is 1800 

32. For  Fig, st at ement s p an q ar e given below : P:a and b ar e f or ming a pair  of  a adj acent  angles 

 t hen : 

a) bot h p and q ar e t r ue  b) p is t r ue and q is f alse 

c) p is f alse and q is t r ue  d) bot h p ar e q ar e f alse 
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33. I n Fig. , ∠ܥܱܣ and ∠ܥܱܤ f or m a pair  of  . 

 

 

 

a) ver t ically opposit e angles   b) complement ar y  angles   

c) alt er nat e int er ior  angles   d) supplement ar y angles 

34. I n, Fig. The value of  a is  

 

 

a) 200   b)150  c)50  d)100 

35. I n Fig ., QP ll  SR  t he value of  a  is  : 

 

 

 

 

a) 400   b)300  c)900  d)800 

36. I n which of  t he f ollowing f igur es, a and be ar e f or ming a pair   of  adj acent  angles? 

 

 

 

 

 

 

 

 

37. I n a pair  of  adj acent  angles (i)  ver t ex is always common, (ii) one ar m is always common                

(iii) uncommon ar ms ar e always opposit e r ays: t hen 

a) All (i), (ii) and (iii) ar e t r ue  b) (iii) is f alse 

c) (1) is f alse but  (ii) and (iii) ar e t r ue d) (ii) is f alse. 
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38. I n Fig., line PQ and ST int er sect  at  O.  I f  ∠ܴܲܳ  = 90 0  and  x:y = 3:2, t hen z is equal t o : 

  

 

 

a) 1260   b)1440   c)1360   d)1540 

39. I n Fig., POQ is a line t hen a is equal t o : 

 

 

 

a) 350   b) 1000   c) 800   d) 1350 

40. Ver t ically opposit e angels ar e always: 

a) Supplement ar y b) Complement ar y  c) Adj acent   d) equal 

41. I n Fig., a = 400 . The value of  b is  

 

 

a) 200   b) 24    c) 360   d) 1200 

42. I f  an angle is 60  0 less t han t wo t imes of  it s supplement  t hen t he gr eat er  angle is : 

a) 1000   b) 800   c) 500   d) 1200 

43. I n Fig.,  PQ ll RS I f  ∠1 = 2(a + b) 0 and ∠6 = 3(a - b) 0t he measur e of  ∠2 in t er m of  b is : 

 

 

 

a) (2 + b)0          b) (3 – b) 0      c) (108 – b) 0         d) (180 – b) 0 

44. I n Fig  PQ ll RS  and a:b = 3:2  Then f  is equal t o : 

 

 

 

a)360   b)108 0  c)720   d)1440 

45. I n Fig., line  l int er sect s t wo par allel lines PQ and RS. Then which one of  t he f ollowing is not  

 t r ue? 

a)	∠1, ∠3,  b.	∠2, ∠4  c)	∠6, ∠7,  d).	∠4, ∠8 
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46. I f  Fig., which one of  t he f ollowing is not  t r ue? 

 

 

 

a)	∠1,  + ∠3 = 1800  b)	∠2, + ∠5 = 1800 c)	∠3, ∠8= 1800 d)	∠2, ∠3= 1800 

47. I n. Fig. Which of  t he f ollowing is t r ue? 

a)	∠1, ∠5,   b)	∠4, ∠8  c)	∠5, ∠8,  d)	∠3, ∠7 

48. PQ l l S T Then, t he value of  x + y is : 

 

 

 

49. I f  PQ l l RS and QR l l TS t hen t he value of  a is : 

a) 950     b) 90 0  c) 85 0  d) 75 

1.a 2.b 3.b 4.d 5.a 6.b 7.c 8.d 9.b 10.b 

11.c 12.b 13.b 14.b 15.a 16.b 17.d 18.d 19.c 20.d 

21.a 22.a 23.b 24.c 25.b 26.a 27.a 28.c 29.a 30.b 

31.b 32.a 33.d 34.d 35.c 36.d 37.b 38.b 39.c 40.d 

41.a 42.a 43.c 44.b 45.d 46.d 47.c 48.b 49.a  

             

            

 

 

       

1. I f  sum of  t wo angles is 900 , t hen t he angles ar e __________ . 

2. I f  t he sum of  measur es of  angles is 1800, t hen t hey ar e __________ . 

3. A t r ansver sal int er sect s t wo or  mor e t han t wo lines ar e __________ . 

 I f  a t r ansver sal int er sect s t wo par allel lines, t hen (Q.4 t o 7) 

4. Sum of  int er ior  angles on t he same side of  a t r ansver sal is  __________ . 

5. Alt er nat e int er ior  angles have one common __________ . 

6. Cor r esponding  angles ar e on t he __________  side of  t he t r ansver sal 

I .  Fill in t he blanks 

     

Hint s /  Solut ions 
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7. Alt er nat e  int er ior  angles ar e on t he __________ side of  t he t r ansver sal 

8. Two lines in a plane which do not  meet  at  a point  anywher e ar e called __________  lines. 

9. Two angles f or ming a__________ pair  ar e  supplement ar y. 

10. The supplement  of  an acut e angle is always __________ angle. 

11. The supplement  of  a r ight  angle is always __________. angle. 

12. The supplement  of  an obt use angle is always __________  angle. 

13. I n a pair  of  complement ar y angles, each angle cannot  be mor e t han __________. . 

14. An angle is 450.  I t s complement ar y angles will be __________. . 

15. An angle  which is half  of  it s supplement  is of  __________  . 

 

1.Complement ar y 2.Supplement ar y 3.Dif f er ent  4.Supplement ar y 5.Ar m 

5.Ar m 6.Same 7.Oppoist e 8. Par allel 9.Linear  

10.Obt use 11.r ight  12.acut e 13.  900 14.  450 

15.  600     

 

 

 

1. I n t he adj acent  f igur e , if  l and m ar e t wo st r aight  lines, t hen ∠1 and ∠2 ar e ……….. angles. 

 

2. I n t he given f igur e, t he value of  x = _____. 

 

3. I n t he given f igur e, p and q ar e t wo par allel lines t hen, ∠1 and ∠2 ar e ……….. angles. 

 

 

 

I I .  Fill in t he blanks 

     



 

 

 

                                                                        9                                                      Created by Pinkz 

 

 

 

 

1. Two r ight  angles ar e complement ar y t o each ot her  

2. One obt use angle and one acut e angle  can  make a pair  of  complement ar y angles. 

3. Two supplement ar y angles ar e always obt use angles 

4. Two r ight  angles ar e always supplement ar y  t o each ot her   

5. One obt use angles and one acut e angle can make a pair  of  supplement ar y angles.  

6. Bot h angles of  a pair  of  supplement ar y angles always f r om a linear  pair  

7. Two supplement ar y angles always f r om a linear  pair  

8. Two angles making a linear  pair  ar e always adj acent  angles  

9. Two angles making a linear  pair  ar e always adj acent   angles. 

10. Ver t ically opposit e angles ar e eit her  bot h acut e angles or  bot h obt use angles. 

11. I nt er ior  angles on t he same side of  a t r ansver sal wit h t wo dist ance par allel lines ar e 

 complement ar y angles, 

12. Ver t ically opposit e angles ar e eit her  bot h acut e angles or  bot h obt use angles. 

13. A linear  pair  may have t wo acut e angles. 

14. An angle is mor e t han 45 0 I t s complement ar y angle must  be less t han 45 0. 

15. Two adj acent  angles always f or m a linear  pair . 

 

16. Tr ue 17.False 18.False 19.Tr ue 20.Tr ue  21.Tr ue 22.Tr ue 

23. Tr ue 24. Tr ue 25. False 26. False 27.False 28. False 29. Tr ue 

30. False       

 

 

 

 

1. I n t he given f igur e,  t he value of  x = 300. 

 

 

 

 

I .  True (or) False  

     

I I .  True (or) False 
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2. I n t he given f igur e, t he value of  x  is equal t o27.5. 

 

3. I n t he given f igur e, t he values of   ∠1 and ∠2 ar e equal. 

 

  

 

 

 

 

 

 

 

1. Mat ch column A wit h Column B. 

 

 

   

 

 

 

 

 

 

2. Mat ch Column A t o Column B on   Lines l and m ar e par allel t o each ot her , wher e 

    t he basis of  f ollowing f igur e.  

 Lines t  is t r ansver sal line. 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

Column A Column B  

i) Complement  of  32 0 a) 100 0 

ii) Complement  of  42 0 b) 58 0 

iii) Complement  of  80 0 c) 48 0 

iv) Complement  of  81 0 d) 99 0 

Column A Column B  

i) ∠1 is equal t o a) 102 0 

ii) ∠2 is equal t o b) 78 0 

iii) ∠3 is equal t o  

iv) ∠4 is equal t o  

I .  Mat ch t he f ollowing 
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1. Find t he angle which is 
ଶଷ    of  it s complement  

Let  angle = x 

 I t s complement  = 900 -  x 

 ∴	 X =  
ଶଷ  (900 -  x) 

 ⇒ 3x =  1800 - 2x 

 5x = 1800 

 x = 36. 

2. Find t he angle which is double of  it s supplement  

 Let  number  be x 

 I t s supplement  = 1800 – x 

 ∴	 X =  2  (1800 -  x) 

 ⇒ x =  3600 -  2x 

  3x = 360 

  X= 120  

3. Find x if  : 

 

 

 

 

 

 

 2x +8 + x-2 = 1800 

 3x + 6 = 1800 

 3x = 1800 - 6  

 3x = 1740  

 X = 
ଵ଻ସబଷ  = 58 

 

 

 

 

 

1. What  is t he supplement  of  a r ight  angle? 

Supplement  of  a r ight  angle is again a r ight  angle. 

 

 

 

 

 

 

1.  Very Short  Answer Quest ions 

2.  Very Short  Answer Quest ions 



 

 

 

                                                                        12                                                      Created by Pinkz 

 

 

 

2. Wr it e each pair  of  adj acent  angle in t he given f igur e  (NCERT) 

 

 

 

 

 

 

 

 

Pair s of  adj acent  angles ar e. 

 i) PQR   and PQT 

 ii) QRU and PRQ 

 iii) QPR  and SPR 

3. I f  t he complement  of  an angle is 62 , t hen f ind it s supplement . (NCERT) 

 Complement  of  62) = 280 and it s supplement  (180 – 28) = 152 

4. Name t he t r iangle which has 3 congr uent  sides and 3congr uent  angles.  

 Equilat er al t r iangle 

5. What  ar e t he t hr ee pr oper t ies an adj acent  angle has? 

 Adj acent  angles ar e pair  of  angles and 

 i) They have a common ver t ex; 

 ii) They have a common ar m, and 

 iii) The non common ar ms ar e one eit her  side of  t he common ar m. 

6. Name t he t ype of  angles in t he f ollowing f ut ur e. 

 i) Linear  Pair      

 ii) Adj acent  angle 

 iii) Supplement  angle 

7. Find t he angle which is equal t o it s complement .   P             Q 

 Let  t he angle be x0  t hen it s complement  be also of  x0. 

 Now, x0 + x0  = 90 																⇒  x0  = 450 

8. How many number s of  t r ansver sals can be dr awn f or  t wo given lines? 

 I nf init e. 
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1. Four  line segment s PQ , QR, RS and ST ar e making t he let t er  W, PQ ∥ RS  and QR ∥ ST.  I f

  angle bet ween PQ and   QR is  390.  Find t he value of  x and y. 

 

 

 

 

 

 

 

 

Since PQ RS and QR is t r ansver sal. So 

 X = 390 [alt er nat e int er ior  angles] 

 Again QR  ST and Rs is a t r ansver sal. 

 Ther ef or e, y = x [alt er nat e int er ior  angles] 

 Or  y = 390 

2. The point  A,O and B ar e collinear .  Ray OC  ⊥	r ay OD, check whet her  : 

 a)	∠AOD   and ∠BOC    ar e complement ar y 

 b)	∠AOC   and ∠BOC    ar e complement ar y. 

 

 

 

 

Since point s A,0 and B ar e collinear  (Given),  t her ef or e AB is a st r aight  line, 

a) As O is a point  on t he AB, t her ef or e  

 ∠AOD    + ∠DOC    + ∠BOC     = 180  o 

Or , ∠AOD    + ∠BOC    + 90
 o = 180  o 

Or , ∠AOD    + ∠BOC    = 90
o  

So,  ∠AOD   and ∠BOC  ar e Complement ar y Angles. 

B) Also    ∠Aoc   And ∠Boc  ar e supplement ar y as  ∠AOC    + ∠BOC    = 180 o. 

I  Short  Answer Quest ions 
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3.  AB  ∥EF, ED ∥  CB and  ∠APE is 39  o, f ind ∠CQF.    

 

 

 

 

 

 

 Since ED	∥  BC  and AB is a t r ansver sal, so 

 So     ∠QBP  =  ∠APE 

    [Cor r esponding angles] 

Or  ∠QBP  =  39
o 

Now, AB ∥  EF   and BC is t r ansver sal. 

Ther ef or e, ∠ܨQB  =  ∠QBP 

   [alt er nat e int er ior  angles] 

Or QB  = 39ܨ∠ 
o 

Also ∠ܨ∠ +   ܨܳܥQB   = 180 o     [ linear  pair ] 

So     ∠39 =   ܨܳܥ
o = 180o      

Or 180o - 39 =   ܨܳܥ∠ 
o 

Or  o 141 =   ܨܳܥ∠ 

4. CD int er sect s t he line AB at  F, ∠CFB  = 500 and ∠ܣܨܧ = ∠ AFD. Find t he measur e of  ∠EFC. 

 

 

 

 

 

Let  ∠EFC = X 

Then    ∠ܦܨܣ	 = x 

I t  is given t hat  CD int er sect s line AB at  F. 

Ther ef or e  ∠CFB  = ∠AFD 

                   (ver t ically opposit e angles) 

So,   x  = 50  o 

But  ∠EFA = ∠	ݓ,ܦܨܣℎ݅ܿℎ	݃݅ݏ݁ݒ	∠	ܣܨܧ =  = 50 o 
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Now CFB  + EFA   + EFC  = 180  o 

                 [  as AB is a st r aight   line] 

Or  50  o + 50 o + ∠EFC = 180  o 

Or    ∠EFC = 180  o – 100  o 

Thus,  ∠EFC = 80 o 

 

 

 

 

1.  Find t he angle which is 
ଶଷ	 of  it s complement . 

1. Let  t he angle be x and it s compliment  be 90 o – x 

Accor ding t o quest ion. 

 

 ⇒ x =  
ଶଷ (90  o – x) 

 ⇒ x =  
ଶଷ x 90 o- 

ଶଷ x. 

 ⇒ +  
ଶଷ x = 60 o 

 ⇒  
ଷ௫ାଶ	௫ଷ  = 60 o 

 ⇒  5x = 180 o 

 ⇒  X = 
ଵ଼଴೚ହ 		= 36 o 

2. Find t he value of  ∠AOB  in t he given f igur e. 

 

 

 

 I n t he given f igur e ∠AOB and ∠ COB ar e t he angles of  linear  pair . 

So,  ∠AOB +  ∠ BOC = 180  o 

 (3x +10  o) + (2x – 30 o) = 180  o 

 3x + 10 o + 2x -30 o = 180 o + 20 o 

 5x -20  o = 180  o 

 5x = 200 o 

 X = 
ଶ଴଴౥ହ   

Thus, x = 40 o 

Now, ∠AOB = 3x +10 o 

I I .  Short  Answer Quest ions 
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 = 3 (40  o) + 10  o 

 = 120o + 10  o  = 130  o 

 

 

 

1. Find t he supplement  of  each of  t he f ollowing angles: 

 i) 105  o 

 Let  supplement  angle be x 

 ∴ x  o + 105 o = 180  o 

            ⇒   x o = 180  o – 105  o = 75 o 

 ii) 87 

 Pr oceed as above 

 ∴ x  o + 87 o = 180 o 

            ⇒   x o = 180  o – 87 o = 93o 

2. Find t he angle which is equal t o it s supplement . 

 Let  t he angle  be x  o 

 I t s supplement  angle will also be of  x  o   

 Now,  x  o + x  o = 180  o 

         2x = 180   ⇒   x o = 
ଵ଼଴ଶ  = 90o 

3. I n t he adj oining f igur e, p  q. Find t he unknown angles. 

 ∵  p  ∥  q 

 ∴ ∠d = 125  o    (Cor r esponding angle) 

 Then, ∠b = ∠d = 180  o   (Ver t ically opposit e angle) 

 Now,  ∠a + ∠d = 180  o    (Linear  pair ) 

 Or   ∠a + 125				= 180  o ⇒ ∠a = 55  o 

 Then ∠a = ∠c  = 55 o   (Ver t ically opposit e angle) 

 ∠a = ∠c  = 55  o   (Cor r esponding angle) 

 ∠e = ∠f   = 55 o   (Ver t ically opposit e angle) 

4. Find t he value of  x in each of  t he f ollowing f igur e if  l ∥	m. 

 

 

 

I I I .  Short  Answer Quest ions 
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As per  f igur e ∠1 + x = 180 o   (Linear  pair )   .... (i) 

And ∠1 = 180  o 

Fr om (i)  and (ii) 

X = 180 o – 110  o = 70 o ∠x = 70 o 

5. I n t he given f igur e, PQ 	∥ RS, TR	∥ QU and PTR = 42  o . Find QUR.  

 

 

 ∴ ∠PTR = 42  o and TR	∥ QU  

and PQ is a t r ansver sal ∴ ∠TQU = 42 o      ( Cor r esponding angle) 

Now , PQ 	∥ RS and QU  is t r ansver sal 

 ∴ ∠TQU + ∠QUR =180  o       (I nt er ior  angles of  same side)  

42 + ∠QUR =180 o ∠QUR =180  o - 42 o = 138. o 

6. I n t he given f igur e OR ⊥ OP  (NCERT)  

 i. Name all t he pair s of  adj acent  angles. 

 ii. Name all t he pair s of  complement ar y angles. 

  i. All t he pair s of  adj acent  angles ar e : 

  a) ∠x and ∠ݕ 

                      b) ∠ݕ and ∠ݔ 

c) ∠ݕ∠ + ݔ and ∠ݖ 

d) ∠ݔ and ∠ݖ∠ + ݕ 

ii. All pair s of  complement ar y angles ar e ∠ݔ and ∠ݕ. 

7. I n t he given f igur e, f ind t he value of  ∠BOC, if  point s A, O and B ar e collinear . (NCERT) 

  Since A, O and B ar e collinear  t hen 

  ∠AOD + ∠COD + ∠BOC = 180  o 

Or  x-10 + 4x – 25 + x + 5 = 180 o 
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Or  6x -30o = 180 o 

Or  6x=180 o + 30 o = 210  o     or  x =
ଶଵ଴଺ = 35 o 	∴ ∠BOC  = x + 5 = 35 + 5 = 40 o 

8. I n t he given f igur e, st at e which pair  of  lines ar e par allel. Give r eason. (NCERT) 

 

 

 

 

 

 Fr om t he f igur e  

 ∠1 = 120  o      (ver t ically opposit e angles) 

           M is par allel t o n, while t aking l t r ansver sal and int er ior  angles 60  o and 120 ar e  

supplement  t o each ot her . 

 

 

 

1.   I n t he given f igure,  EF  ∥ GH,  ∠EAB = 60  o and ∠ACH= 105  o,  t hen f ind the values of   

 a) ∠CAF   b) ∠BAC 

 a) Since EF  ∥ GH and AC is t r ansver sal. ⇒ ∠CAF + ∠ACH  = 180  o 

(int er ior  angles on same side of  t r ansver sal) ⇒ ∠CAF + 105 o = 180  o ⇒ ∠CAF   = 180  o – 105 o 

      = 75 o 

b) Since EAF is a st r aight  line. 

 ∴ ∠EAB + ∠BAC + ∠CAF  = 180  o ⇒ 	60 o + 	∠BAC+ 75 o = 180  o 

 ⇒  	∠BAC = 180 – 135 

 = 45 

2.  I n t he given f igure,  show t hat  CD   ∥  EF 

 ∠ BAD = ∠	BAE + 	∠	EAD  

I .  Long Answer Quest ions 
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= 40 o + 30 o = 70 o 

and ∠CDA = 70 o ∴ ∠BAD =  ∠CDA 

But  t hey f or m a pair  of  alt er nat e angles. 

 ⇒ AB ∥  CD 

Also, ∠BAE + ∠AEF = 40  o + 140  o =180 o 

But  t hey f or m a pair  of  int er ior  opposit e angles ⇒ AB ∥  EF 

Fr om (i) and (ii), we get  

AB ∥  CD ∥  EF ⇒ CD ∥  EF. 

3.  I n the given f igure,  PQ ∥  RS.  I f  1= (2a+b) o and ∠6 = (3a- b) o,  t hen f ind the measure 

 of  ∠2 in t erms of  b.  

Given, ∠1 = (2a+b) o and ∠6 = 	(3a-b) o 

So, ∠1 =	∠7 [alt er nat e ext er ior  angles]   

So, we have ∠7 = (2a + b)  o  ∴ ∠6 + ∠7 = 180  o     [ linear  pair ] 							⇒ (3a-b)+ (2 a+b)= 180 

     ⇒ 3a-b+2a+b = 180 o 

     ⇒ 5a = 180  o 

On dividing bot h sides by 5 , we get  																			⇒ a = 
ଵ଼଴బହ  = 36 o ∴ ∠1 + ∠2 = 180  o    [ linear  pair ] 				⇒ 2a + b + ∠2 = 180  o 				⇒ 2 x 36 + b + ∠2 = 180  o 				⇒ b + ∠2 = 180  o – 72  o 		⇒ b + ∠2 = 180  o 		∴ ∠2 = (108-b). 

4.  I n t he given f igure,  PQ RS  and UT are parallel lines.  

a) I f  c = 57  o and e = 
௖ଷ t hen f ind t he value of  d. 

b) I f  c  = 75 o and a = 
ଶହ c, t hen f id t he value of  b.  
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Given PQ  ∥  RS ∥  UT 

a)  Given, c = 57 o and a = 
௖ଷ 												∵ PQ  ∥ UT 

 ∴  UTP [alt er nat e int er ior  angles] 

 				⇒ ∠c = ∠a + ∠ܾ  [∵ QPT = a + b] 

 ⇒  57 o – 19 o = ∠ܾ   

 ⇒   ∠ܾ   = 38 

  ∴ ∠ܾ + ∠݀ =180 o ⇒   ∠݀   = 180  o – 38 o = 142  o 

b) Given, c = 75 o and a = 
ଶହc,  	⇒  c = 75 o and a =  

ଶହ x 75 o  = 30 o [alt er nat e int er ior  angles] 			⇒  75 o = 30  o + ∠ܾ 			⇒  75 o – 30 o = ∠ܾ 			⇒ ∠ܾ  = 45 o 

 

 

  

 

1.  I dent if y which of  the f ollowing pairs of  angels are complement ary and which are 

 supplement ary.   (NCERT) 

 i) 65  o, 115  o    ii) 63  o, 27  o  

 iii) 112, o   68 o    iv) 130  o, 50 o 

 v) 45  o ,  45  o    vi) 80  o, 10 o 

 The pair  of  angles whose sum is 180 o ar e called supplement ar y while sum is 90 o ar e 

called complement ar y. 

 i) Supplement ar y   ii) Complement ar y 

 iii) Supplement ar y   iv) Supplement ar y  

 v) Complement ar y   vi) Complement ar y 

2.  Can t wo angles be supplement ary if  both of  t hem are:  .   (NCERT) 

 i) acut e   ii) obt use  iii) r ight  

 i) No    ii) No   iii) Yes 

3.  I n t he adj oining f igure: 

I I .  Long Answer Quest ions 
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 i) I s ∠1 adj acent  t o ∠2? 

           ii) I s ∠AOC adj acent  t o ∠AOE? 

 iii) Do ∠COE and ∠EOD f or m a linear  pair ? 

 iv) Ar e ∠BOD and ∠DOA supplement ar y? 

 v) I  ∠1 ver t ically opposit e t o ∠4? 

 vi) What  is t he ver t ically opposit e angle of  ∠5? 

  i) Yes   ii) No  iii) Yes 

  iv) Yes   v) Yes  vi)  ∠2 + ∠3 

4.  I n t he given f igure.  l ∥m ∥n.  ∠QPS = 35  o and QRT= 55  o.  Find ∠PQR.  

 Given l ∥m ∥n 

 ∠QPS = 35  o and ∠QRT= 55 o. 							∵ l ∥m and PQ is a t r ansver sal 

    ∴  ∠SPQ = ∠PQM  (Alt er nat e int er ior  angle) 

 Hence, ∠PQM  = 35  o 

Similar ly, m	 ∥ n.		and	QR is t r ansver sal 

Hence ∠ܴܳܶ =  ∠ܯQR 

Hence ∠MOQ = 55 o 

Now, ∠PQR  = ∠PQM + ∠MQR    

Fr om i  and (ii)  

∠PQR = 354 o + 55 o = 90 o. 

5.  I n t he given f igur e AB ∥ CD   AF  ∥ ED, AFC = 68 o and FED = 42  o  Find EFD.  ∵ AF  ∥ ED and CD is a t r ansver sal ∠AFC= ∠EDF = 68 o    (Cor r esponding angle) 

Now, ∆DEF ∴  ∠D + ∠	ܧ + 180 = ܨ	∠	  o (By angle sum pr oper t y) 

68 o + 42 o +∠F = 180  o ∠F = 180  o – 68 o - 42 o ∠ܨ = 70
 o    Hence, ∠ EFD = 70  o  
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